Halloween Party

Mrs. Green, Mrs. Black, and Mrs. Blue attended a Halloween Party. They came wearing
green, black, and blue costumes but not necessarily in their respective order. Mrs. Green
said to the lady wearing the black costume, ”"Did you notice that the three of us are wearing
costumes having colours not corresponding to our names?”

Mrs. Green Mrs. Black Mrs. Blue

Costume Blue Green Black

Determine which coloured costume each of them wore.

Spooky’s sweets

Spooky has a number of sweets. It is a 2-digit number, less than 30 and the sum of its two
digits is 10. The number is also even.

28

How many sweets does Spooky have?





